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CONDITIONAL PROBABILITY
-

·"Smokers are more likely to getcancer than
non-smokers"

is a statement about conditional probabilities.

Study:360 people: P(Cancer) = =0.02

Cancer No

Smoker 8 32 PacerswohnereNo 16 304

4 xhig
· Note calculation above:

"IF"or "GIVEN thAT..."
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Pancer/Smoke) -make

Asetis,itinene
Remark F becomes - a new probabilityspace.
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Gradeherwithcareeristhe probablythe
thatmenare girls?

↑S = 264, GB, B6, BBY (older first;all equally likely)
F =444,GB3, E =(443

P(EIE) === I

A

16) Aonechild isa girl, whatis the probability
thatwirenare girls?

E

SF =[62,6B,B63,E =4GG)
P(EIF) - = Surprising -
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PopeevenoneeneI
TP(E)=0.63, P(F) =0.75

E F

PEI-E-.

MegaMatalDowegNerfatinare
rents amovie

↓ a
Netflix

T.PEIF) =0.2x0.15 =0,0
a useful "multiplication rule"
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